50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

s

il sign

4

(08 Marks)
(08 Marks)

(08 Marks)

J‘assembly with 70kN load on each wheel and contact pressure of
ed on a homogeneous mass with modulus of elasticity 12N/mm?. If the

centre to centrqwdiétance between the tw& Wheel is 600mm, determine the deflection value at
a depth of 0, 5m at four points, at the centre of dual wheels and at radial distance of 300, 600

USN
Eighth Semester B.E. Degree Examw
Pavement D
Time: 3 hrs.
SRy =
b. List out the difference betwee%hlghway pavement and an'ﬁeld pavement.
{ : OR
2 a. Listoutthe assumptlo ,s;of Burmister’s theory.
b.
0.7kN/mm? is 4f
and 900mm from this centre alo
3 a. What arecthe, 3
detail. | 4
b.

(08 Marks)

sidered in the design of pavement? Explain any three in

(08 Marks)

Calculate the design rep% tion for 20 years period for various wheel loads equivalent to

(08 Marks)

22.68kN. Wheel load %;mg the following data on a four lane road.
Load kN 22.68 | 27.22 [ 31.75 | 40.82 | 45.36 | 49.90 | 54.43
25 20 15 10 5 1

Volume per day | 30
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OR
a. [Explain the significance of ESWL in pavement design. (08 Marks)
b. It is proposed to widen an existing 4 lane NH section %63 lane dual carriage way road.
Design the pavement for new carriage way with folléo ving'data:
Initial traffic in both directions = 4932 CVPD
Construction period = 20 months
Design life = 15 years
Design CBR of soil = 7%
Traffic growth rate = 8%
VDF =4.5.
Land distribution factor = 75% (0.75)
Pad rﬁént Design Catalogue,
Plate 2- Recow@éd Designs for Trafﬁc

ge 10-150 msa

Q% CBR 7% 9
Cumulative traffic Totagg pavement .. 4Pavement Composition
(msa) thickness (mm) Bituminous Granular base and sub-
4 G °H‘.ﬂhﬁ?facmg base (mm)
A BC DBM
N o (om) | (mm)
10 ¢} p 580 40 60
2/9”% 4" 610 40 90
/30 630 40 110 Base = 250
(S5 40
50 Sub-base = 230
50

o & \ " (08 Marks)

L Module-3% ' :
a. Explam dlfferent types. Qf ﬂéx1ble pavemenyfailure . (08 Marks)
b. an € (08 Marks)

a. What are the %auseé of formation

remedial measures.

b. Explam/ “step by step procédiire of conducting

for-eyaluation of flexible pa%@ent surface condltlorf5 (08 Marks)
% o

¢ € % > Modujigw

5of%% aves and corrugagons in flexible pavement? Suggest
Wy (08 Marks)

f stresses. s ¢ A&/ﬁiy (08 Marks)
b. ™ Explain IRC recom;nendatlon S %ége demgn of dowel bar, tiebar and RCC in pavements.
& -~ G, (08 Marks)
{ amn ¥

wheel load = 51kN, tyf /,ressure = O 75N/mm?, E = 30kN/mm?, K = 0. 08N/mm? slab
thickness 250mm. (08 Marks)

b. A cement concrete pavement has a thickness of 20cm on a 2 lane road of 7.5m with a
longitudinal Jomf ~along the centre. Design the dimensions and spacing of tie bars for the

Workmg stress in tension S; = 1400 kg/cm® density of concrete
friction coefficient 1.5. Allowable bond stress in concrete,
(08 Marks)

20f3
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Module-5 ? sy,

a. What are the various types of joints in C.C. pavement; ‘fu%xplam their functlons with neat

sketches. ﬁ"“ ) (08 Marks)
b. Explain briefly the pavement evaluation. ) ﬁ (08 Marks)

V ]

a. Explain various types of rigid pavement fai u{,es,ﬁmth neat sketch. gg, (08 Marks)
b. Explain the following: &

i)  Fatigue behavior of concrete %?%% :

i)  Maintenance of Joints. : (08 Marks)




